Name:

Unit 3: Product Rule and Quotient Rule

The Product Rule
(f-9)()=1(x)-g'()+ f'(X)-g(x)

= F-S+F'S

Examples:
1. f(X)=(x*+D(2x*-1)
f'(x)= (X* +D)(4x) + (4x>)(2x* -1)
f'(x)= 4x° +4x+8x> —4x®
2 M= 4536 -7
h'(x) = (3x* +5x* —3)(18x?) + (12x> +10x)(6x° — 7)
h'(x) =54x° +90x* —54x? + 72x° —84x® + 60x* — 70x
h'(x) =126x° +150x* —84x> —54x° — 70x
B v-6x -9@¢ <8
v'(X) = (5x" —9)(15x*) + (35x°)(3x° +8)
v'(x) = 75x* —135x* +105x™ + 280x°

Vv'(x) =180x™ +280x° —135x"



Name:

The Quotient Rule

/

(ij ()= 30 00~ 1099’
g [90)T°

_B.-T-T-B'
=2

Examples:

4,
3x+1

x2—1
(x? —1)(3) - (3x +1)(2X)
(x*-1)°
x> —3—6x% — 2X
x* —2x% +1
~3x%-2x-3
x* —2x% +1

4x® —5x+3
5x°
£1(x0) = 5x*(12x? —5) — (4x® —5x +3) -10x
(5x*)?
60x* — 25x° — 40x* +50%* —30x
25x*
20x* +25x* —30x _ 5x(4x° +5x —6)
25x* N 25x*
4% +5x—6
5x°

K(X) =

K'(X) =

K(x) =

K'(X) =

F'(x) =

F'(x) =

f'(x) =



Name:

3x2 -5

6. f(x)=
() X3 +7

£1(x) = (X +7)(6x) — (3x* —5)(3x*)

(x® +7)*
£1(x0 = 6x* +42x —9x* +15x>  —3x" +15x° + 42X
(¢ +7)° (x* +7)?
J— 3 J— J—
£1(x) = 3X(x* —5x —14)

(x> +7)?



Unit 3: Product Rule and Quotient Rule Name:

The Product Rule
(f-9)()=1(x)-g'()+ f'(X)-g(x)

= F-S+F'S

Examples:
1. f(X)=(x*+D(2x*-1)

£/(x) =

2. h(x) = (3x* +5x* —3)(6x° - 7)

h'(x) =

3. v(x) = (5x" —9)(3x° +8)

V'(X) =

The Quotient Rule




Name:

[9(x)]’

_B.-T-T-B'
=2

(L] ()= 909 F'(9=F(9-g'(¥

Examples:

4x3 —5X +3
4. k(x)=

X2

K'(X) =




